
 
 

Parts Inventory 
To place an order, please contact orders@add-jet.com. 

 
0200.00388 Grooved Ball Bearing 40/68 x 1 
0200.00557 Grooved Ball Bearing 85/130 x 1 
0222.00263 Hinge 
0520.00154 Calipers (Red Stop Switch) 
0520.00155 Switch Element 
5019 FlexPrint Dark Blue 
5946 HP BLACK 4030 DYE PRINTHEAD 
5947 HP CYAN 4030 DYE PRINTHEAD 
5948 HP MAGENTA 4030 DYE PRINTHEAD 
5949 HP YELLOW 4030 DYE PRINTHEAD 
7119.00013 Bushing Bearing R120/72 x 72 
7183.00217 Shaft RD15 X 760 
7183.00671 Shaft 
8120.0407 Sensor Cable 
12085 80/20 Hinge for Adphos Dryer (Slot 4 Hole Lock Zinc Hinge 15,40/45S) 
34743 Kimwipes Delicate Task Wipers - 11.8 X 11.8 (119 wipes) 
35205 Non Slip Covering for Drive Rolls (150' Roll) 
52335 Tire-Pullout 
61298 Bearing-Ball .375 ID NICE 1614RS 
61318 Belt- Flat 2IN Bottom Drive 
63846 Belt-18 Inch Top Drive 
65995 Score-Wheel-Female-018 
65996 Score-Wheel-Male-028 
65999 Register-Wheel-O-Ring 
66722 Belt-Short Bottom Drive 
66742 Axle - Bed Bearing 
66789 Belt-6.5 Inch Top Drive 
100131 Bushing, SL .250 x ID x .375 OD x 1.250 LG 
100145 Bushing, SL .625 ID x .813 OD x 1.000 LG 
100709 Dynamini (57x003) Nozzle, EZ-Change .015 
102225 Collar, .250 
102700 Spring Compression 211 Lever Light 
102775 Spring, EXT 
103405 Cam Follower 

mailto:orders@add-jet.com


103500 Rod, End Bearing 3/8" ID 
103803 Bearing Ball Hub 1/2" ID 
103804 Bearing Hub .625 
104059 Clutch, Electromagnetic, 90 VDC 
106472 Belt, Flat Hi-Temp 3/4” x 72” (1 Set = 4 Belts) 
109023 Belt, Timing TP150L050 535 Roller Double 
109124 Belt, Timing HTD 520-5M-15 
155004 Thrust Washer Sprocket 
190895 O-Ring, 1.125 x 1.312 x .93 
238004 Nozzle, Brass, Handgun .012 
238006 Nozzle, Brass, Handgun, .016 
238011 Nozzle, ST STL, Handgun, .012 
238012 Nozzle, ST STL, Handgun, .014 
312048 Spring Compression Dual Clutch 
500735 Rod-Push 
500737 Washer - Bumper 
500859 Spacer 
525205 Guide, Ring 
527689 Belt Brake 
972657 CONN W/O Ring, Hose, 9/16-18 
1000828 ASSY Double Detect 
1095800 Solenoid, REPL, Saturn PLAT, 4 
1800335 ASSY Mid-Tier/RS Interface Cable 
1800507 MITSUBISHI 400W SERVO MOTOR 
1800519 Arm Shuttle Drive 16K 
1800541 Shaft Idler 
1890023 Kit, RS Sensor Replacement 
3121524 Spring, Torsion BRG HSG Blue 
3155123 Plate - Pivot Link Short Blue 
3165010 Roll AUX FD 1050 
3187574 Assy PLT Link Long 
5350051 Spacer 
6284066 Ink Transfer Roller LOC 16 
8410093 Shaft Paper Drive E F H Rack 
8410094 Shaft Paper Drive Rack 
8410096 Shaft Paper Drive Rack 
8410105 Shaft Take Away Rollers A and D 
8410109 Shaft Pressure Roller 
8410111 Shaft Take Up 
8410115 Shaft Pressure Roller 
8421000 Spring Chute 
8431015 Sprocket 30T 
8445018 Spacer Guide 
8462058 Deflector Moistener 
8470001 Screw Shoulder Large 
8480000 ASSY Latch RH 



8480001 ASSY Latch LH 
8480016 ASSY Idler SPRKT 16T 
8480197 ASSY Axle Bearing 
8480198 ASSY O-Ring PLY 
8480202 ASSY Clutch Sprocket 
8480226 ASSY Spur Gear 
8480260 ASSY Spur Gear 48T 
8480282 Pulley O-Ring ASSY 
8480284 ASSY Roller Input 
8480369 ASSY Pulley Take Up 
8480370 Pulley Drive 
8480435 Roller ASSY 
8480469 Folder Roller A 
8480471 Folder Roller B Service Only 
8484064 Gear Spur 30 Teeth 
8484095 Photomicrosensor Horizontal 
8484158 Belt Sealer 
8484202 Prefeed Belt Roto Bin 
8484219 Socket Jam Screw 
8486012 Output Roller Slitter 
8486020 Take Away Roller 
8486028 Take Away Roller-Diverter 
8780055 ASSY Roller 
500017900 CQ803A HP Pen Stall Assembly 
500245300 Encoder Wheel Polyurethane 
0140.00041-U Key 
0140.00073-U Key 
0200.00555-A Inclined Ball Bearing 
10004-057 Shaft Pusher Drive 10X13 
10006-001 Seperator Wheel 3IN 
10006-007 Roller Feeder 
10006-013 Roller Nip 
10006-018 Pulley Crowned 
10006-069 Roller Blue 
10006-070 ROLLER NIP 3/4 IN 
10007-003 Nut Paper Slide 
10007-004 Washer Paper Slide 
10014-001 Belt Urethane 3" 
10014-002 O-Ring 3IN Seperator 
10020-429 ASSY Knob #10-24 x 5/8" 
103405-A Assembly, Cam Lever 
109125-4 Belt, Timing 255-5M-15 
11-0056 Plunger ASSY - M12 THRD 
11-0058 Plunger ASSY - 3/8-16 THRD L-Handle 
12005-004 Guide 1" Belt 
12020-110 ASSY Regulator Speed Sort 



12021-020 ASSY CONV. Motor - Air Leg (Grainger 1LPW1) 
13-1030 Screw Shoulder - 12MM OD x 80MM L 
13-1060 Screw Shoulder - 10MM OD x 20MM L Steel 
13-1072 Screw Shoulder - 5MM OD x 16MM L SS 
13-2039 Screw Shoulder 8MM OD x 12MM SS Low 
158-0020 Key - Woodruff 1/8 X 5/8 
158-0025 Key-Woodruff 3/16 x 3/4 
16014-005 Belt Set Seamless Inkjet (3 Belt Set) 
170-0392 Bearing Plain 8MM ID x 8MM L 
175-0912 Bearing Clip 8MM ID 3 MM Hub width 
175-0927 Bearing Flanged LFM-0608-08 
175-0954 Bearing Flanged - Plain 20MM ID 16MM L 
175-0958 Bearing Flanged-Plain .375 ID .25 L 
175-0963 Bearing Flanged - Plain 5MM ID 4MM L 
18004-004 Shaft Support Idler 
18004-006 Shaft Main Inserter 
18004-018 Shaft Shuttle 
18004-019 Shaft Cam Roller 
18004-039 Pin Collator 
18004-045 Shaft Pusher Drive 10X13 
18004-054 Sprocket Shaft ASSY 27T FRNTTABLE 10X13 
18004-058 Shaft Elevator Belt Drive 
18004-063 Shaft ASSY Shuttle Guide 6X9 
18004-064 Shaft ASSY Double Detect 
18004-091 Seperator Shaft Version 2 
18005-008 Finger Inner 
18005-012 Plate Pusher Extension 8.5" 
18005-024 GIM CTR Jaw Opener 
18005-025 Guide Spring Steel 
18005-045 Plate Pusher Extension 6.88IN 
18005-060 Guide Wire Envelope Plow (Long) 
18005-073 Guide Envelope Pre Opener 
18005-077 GATE-ENVELOPE HOPPER 
18005-090 Finger Outer 
18006-019 Roller Brush 
18006-079 Pulley Timing 22-5GT-15 X 3/4 
18006-080 Pulley Timing 22-5GT-15 X 1/2 
18007-015 Block Pusher 
18007-022 Block Pivot MTG 
18008-018 Bar Shuttle Arm 
18008-111 Bar Finger Arm 16K 
18009-031 Bracket CTR Jaw Roller 
18011-038 Plate Vacuum Top (Flat) 
18011-048 Plate Vacuum Top (Shallow) 
18011-131 Plate Vacuum 
18012-022 Spacer Pusher Block 



18014-005 Belt ENV. Close (10X13) 
18014-007 O-Ring Accelerator 10X13 
18014-009 ASSY Gripper Chain 10X13 
18014-027 Belt Collator (Set of 4) 
18014-028 Belt Collator (Set of 4) 
18014-045 Chain ASSY Pusher 16K (1 Set = 2) 
18015-002 Sprocker Pusher Drive 
18015-005 Sprocket Idler 21T 
18016-006 Cam Finger 
18016-013 Cam Finger (Boxed) 
18019-004 Pan Drip 
18019-005 Brush Water 
18019-045 BRUSH WATER - PVC BODY / .005 
18020-050 ASSY Pusher Arm 10X13 
18020-074 ASSY Feeder Clutch 
18020-246 ASSY Entering Finger 16K 
18020-247 ASSY Pusher Arm Shaft (10x13) 
18020-385 ASSY Gear Motor/Reducer 
185-0414 Collar - Clamp 1/2 ID 
185-0505 Collar - Coupling ASSY 8 MM ID 
19-0014 Knob - 4 Prong W/Insert 10-32 
19-0157 Handle - Teardrop w/M6 x 32 MM Stud 
1CK26 3A Time Delay Glass Fuse 250VAC Voltage Rating GMD Series (Grainger) 
1YVU8 Base Drive Belt (AX40 Cogged V-Belt, Outside Length 42") (Grainger) 
20004-008 Shaft Intermediate Turnover 
20004-012 Shaft Drive (10X13) 
200-065-BG-01 ASSY-Nut Adjust 
200-070-02-00 Screw-Knurled Thumb M6 x 18 
200-0701 Magnet 
200-074-01-00 Shim-Washer 20x28x.5 
20-0126 Spacer Plain .22 ID x .05 THK 
20014-001 Belt Turnover Lower Twist No Twist 
200-218-09-00 Shim-Washer 10x28x.1 
20-0229 Spacer - Plain .38 ID x .03 THK 
20-0308 Spacer - Plain .5 ID x .075 THK 
20-0309 Spacer - Plain .249 ID x .06 THK 
20-0317 Spacer - Plain .41 ID x .016 THK 
200-557-04-00 Shim-Washer 10x28x.3 
200-637-02-00 Washer-Cup Spring 31.7x20.4x.4 
200-733-03-00 Shim 
20-3013 Washer Finishing - 14 MM O.D. 
203-404-01-00 Ring - Retain INT M32 x 1.2 BLK 
210-03/05A 655VT/PK Belts, Set of (2) 210-03, (2) 210-05 
210-03/05-A Set of Belts (4) 2-1 1/2" x 133" Vacuum Heat Belt/2 - 1" x 133" Heat Belt 
210-10 VF200 Feeder Belts (Set of 2) 
212-5039 Spring Extension - 1.5LB @ 2.18IN 



212-5066 Spring Compression - 5.2 LBS @ .18 
212-5113 Spring Extension - 17.26N @ 50.6MM SS 
212-5136 Spring Compression - 9.6 LBS @ 0.45 SS 
213-0546 Switch - Actuator & Base 
213-0547 SWITCH - PUSHBUTTON MAINTAINED 
213-112-01-00 Shim-.008 
213-112-02-00 Shim-0.024 
213-2336 Switch Push Button 
213-2555 Switch - Momentary 10A 
213-2591 Switch Accessory - Operator Black 
213-2604 Switch Accessory Contact Block 
214-0771 RLY 2 FORM A 25A 
219-0206 Solenoid 
219-0213 Valve - Solenoid 24VDC 1/4" NPT 
219-0214 Solenoid Valve 24VDC 3 Port 
219-196-BG-01 ASSY-Slitter Drive Shaft 
219-214-BG-04 Housing Bearing 
219-217-01-00 Washer-Special 14x24x1 
219-218-01-00 Washer-Special 10x20x0.1 
223-0824 Adapter - Modular RJ45F To RJ45F 
226-130-01-00 Gear - #1, 2, 4 Gear Plate 
226-131-01-00 Gear - Main, 3, 5 Gear Plate 
226-132-01-00 Gear - Adj. Slit, Gearplate 
226-133-01-00 Gear - Fixed Slit, Gearplate 
226-484-01-00 Coupling 
228-2117 Fuse 5MM x 20MM Fast 2A 250V 
228-2123 Fuse 5MM X 20MM Fast 0.5A 250V 
228-530-01-00 Washer-Spring 10x5.2x0.5 
228-533-01-00 Washer Shim 
23-0018 Ring Retaining - E-Clip .188 Shaft 
23-0025 Ring Retaining - E-Clip .250 Shaft 
23-0031 Ring Retaining E Clip 
23-0518 Ring Retainer - E-Clip 3MM Shaft 
25 Chain #25 Roller Chain\Connecting Links\Detacher 
262-542-01-00 Shim 
262-543-01-00 Shim 
262-551-06-00 Ring-Retain EXT M20x1.2 BLK 
267-170-01-00 Shaft-Slitter 
267-189-BG-01 ASSY-Slitter Support 
267-251-01-00 Belt-Bulk Fold Pans LL=XL (Qty = Feet) 
267-268-BG-01 Roller 
268-141-BG-01 Roll-Fold, #1, 2, 4 Soft PU 
268-142-BG-01 Roll-Fold #3,5 15 Soft PU 
268-143-BG-01 Roll-Fold Main 15 Soft PU 
268-248-01-00 Deflector-Swing 
270-0204 Plate - Armature 



270-06 Motor, 250 RPM Gear Drive 
270-06B Brushes for 270-06 Motor, 250 RPM Gear Drive (2/Pair) 
286-485-01-00 Drive-AC Inverter 
2W928 120 VAC Coil Volts, Relay, 10A @ 120 VAC/10A @ 24 VDC Contact Rating, Square (Grainger) 
310-092-2A Modular Friction Seperator Hard Durometer (Blue) 
310-092B Modular Friction Seperator Soft Durometer (Black) 
3184745BB OPT Scan Dash Remote 
3187072PP ASSY Ground Strap Chassis 
320-0085 Serial Concentrator - PCI EXP 16 Port 
320-0086 Serial Concentrator - PCI 16 Port 
33K906 DAYTON Replacement Motor Brush Set: 33K906, 4Z140D/4Z143D/4Z144D/4Z529D 
4FE18 24 VDC Coil Volts, Relay 10A @ 240 VAC/10A @ 28 VDC Contact Rating, Square (Grainger) 
4ZZF5 P9B10VN Auxiliary Contact, IEC Type, Rear Mounting 
50-0554 Washer M DWR 
50-0557 Washer Plain 
50-0608 Washer Plain - 6MM ID 
50-0621 Washer Oversize - 10MM ID 
50-0702 Washer Plain - Nylon 6/6 
50-0704 Washer, Plain, Nylon 6/6 
500722-24L Rail, Guide-LH 
500722-24R Rail, Guide-RH 
500745A Upper Feed Roller ASSY 
50-0748 Washer Plain 25 ID x 2MM THK 
500751-A Assembly Yoke Feeder Crank 
500760-A ASSY Lifter Feeder Pusher 
508-0043 Adapter for 508-0041 
508-0048 Vacuum Bellows Sucker 
508-0049 Vacuum Cup W/Locking Ring 
508-1002 Cylinder - W/Vacuum Pad 
508-1003 Cylinder w/Vacuum Pad 20MM Stroke 
509-3129 FITTING - VACUUM FILTER 1/2 FPT 
509-3142 Fitting Filter 35 Micron 
509-3143 Fitting - Filter Screen 35 Micron 
52-0554 Lockwasher - Helical 
523-5006 Tubing - Polyurethane 4MM 
531106-01 Assembly, Hub 
536320-03 ASSY Roller Drive 
539958-02 Roller Belt Drive 
539960-1 Shaft Infeed Idler Roller 
54-0122 O-Ring - BUNA-N .075 ID X 1.000 OD 
565-0002 Chain - Link Spring Clip #25 
565-0005 Chain - Link Offset #25 
565-0044 Chain - #25 1/4 P 
565-0705 Chain - 25 1/4 P 
565-0710 Chain - Riveted 25 1/4 137 34.25 
566-0017 Belt Timing - XL 65T x 3/8" W 



566-0020 Belt Timing - XL 100T x 3/8" W 
566-0022 Belt Timing - XL 115T x 3/8" W 
566-0025 Belt Timing - XL 45T X 3/8" W 
566-0026 Belt Timing - XL 80T X 3/8" W 
566-0027 Timing belt 220XL-037 
566-0073 Timing Belt 
566-0075 Belt Timing - XL 44T X 3/8" W 
566-0208 Belt Timing - XL 212T X 3/8" W 
566-0211 BELT TIMING - MXL 115T X 1/4" W 
566-0214 Belt Timing - XL 88T X 3/8" W 
566-0314 Belt Timing - L 80T x 3/4" W 
566-0321 Belt Timing - L 50T X 1/2" W 
566-0323 Belt Timing - L 64T X 1/2" W 
566-0329 Belt Timing - L 68T X 3/4" W 
566-0612 Belt Timing - XL 133T x 3/8" W 
566-1019 Belt Timing - XL 215T x 3/8" W DS 
566-2008 Belt Timing - 3MM HTD 68T x 9MM W 
566-2011 Belt Timing - 3MM HTD, 113T x 9MM W 
566-2012 Belt Timing-3MM HTD 69T x 9MM W 
566-2013 Belt Timing - 3MM HTD 92T X 9MM W 
566-2015 Belt Timing - 3MM HTD 130T x 6MM W 
566-2025 Belt Timing - 3MM HTD 163T X 6MM W 
566-2047 Belt Timing - 3MM HTD 251T x 9MM W 
566-2048 Belt Timing - 3MM HTD 76T x 9MM W 
566-2058 Belt Timing - 3MM HTD 
566-2062 Belt Timing - 3MM HTD 144T x 15MM W 
566-2063 Belt Timing - 3MM HTD 104T x 6MM W 
566-2066 Belt Timing - 3MM HTD 111T x 9MM W 
566-2067 Belt Timing - 3MM HTD 78T x 9MM W 
566-2068 Belt Timing - 3MM HTD 95T x 9MM W 
566-2084 Belt Timing - 3MM HTD 203T x 15MM W DS 
566-2115 Belt Timing - 5MM GT 75T X 15MM W 
566-2118 Belt Timing - 5MM HTD 93T X 9MM W 
566-2120 Belt Timing - 5MM HTD 111T X 15MM W 
566-2127 Belt Timing - 3MM HTD 82T x 15MM W 
566-2138 Belt Timing - 3MM HTD 108T x 9MM W 
566-2153 Belt Timing - 8MM HTD 97T x 20MM W 
566-2184 Belt Timing - 3MM GT 184T x 9MM W 
566-2186 Belt Timing - 3MM HTD 142T x 15MM W 
566-4002 Belt Timing - 3MM STS 114T x 9MM W 
566-4008 Belt Timing - 3MM FHT 105T X 9.5MM W 
566-4010 Belt Timing - 2 MM FHT 150T x 12MM W 
566-4011/Y404427 Belt Timing - 2MM FHT 290T X 12MM W, HPI Rat Belt 
566-5000 Belt Timing - 5MM GT 85T X 9MM W 
566-5003 Belt Timing - 8MM GT 100T X 12MM W 
566-5005 Belt Timing - 3MM GT 140T x 9MM W 



566-5008 Belt Timing - 3MM GT 228T x 25MM W 
566-5009 Belt Timing - 5MM GT 100T X 15MM W 
566-5010 Belt Timing - 5MM GT 120T x 25MM W 
566-5011 Belt Timing - 3MM GT 280T x 15M W 
566-5013 Belt Timing - 3MM GT 170T x 9MM W 
566-5014 Belt Timing-5MM GT 130T  15MM W DS 
566-5030 Belt Timing - 3MM GT3 110T X 15MM W 
566-7056 Belt Timing - 2MM GT 110T x 9MM W 
566-7070 Belt Timing - 3MM GT 280T x 9MM W 
566-7072 Belt Timing - 3MM HTD 167T x 15MM W 
566-7076 Belt Timing - 8MM HTD 115T x 20MM W 
566-7079 BELT TIMING - 3MM GT 179T X 15MM W 
566-7084 BELT TIMING - 3MM GT 150T X 15MM W 
566-7087 Belt Timing 3MM GT 67T x 15MM W 
566-7112 Belt Timing - 3MM GT 180T x 20MM W 
566-7113 Belt Timing - 3MM GT 68T x 9MM W 
566-7114 Belt Timing – 2MM GT 200T x 9MM W 
566-7115 Belt Timing 3MM GT 190T x 15MM W 
566-7118 Blet Timing - 5MM GT 92T x 15MM W 
566-7121 BELT TIMING - 3MM GT 140T X 15MM W 
566-7125 Belt Timing 3MM GT 250T x 15MM W 
566-7130 Belt Timing - 3MM GT 82T x 15MM W 
566-7131 Belt Timing - 3MM GT 203T x 15MM W DS 
566-7132 Belt Timing - 3MM GT 80T x 12MM W 
566-7133 Belt Timing - 3MM GT 95T x 12MM W 
566-7156 Belt Timing - 3MM GT2 92T x 15MM W 
566-7158 Belt Timing - 3MM GT2 116T x 15MM W 
566-7170 Belt Timing 3MM GT 529T x 15MM W 
566-7172 Belt Timing - 5MM GT2 60T x 9MM W 
566-7176 Belt Timing 3MM GT2 350T x 15MM W 
566-7179 Belt Timing 3MM GT2 308T x 15MM W 
589-0222 Washer Spring - Conical 4.25 MM ID 
589-0421 Washer, Spring - Wave, 1.051 ID 
589-0425 Washer Spring - Wave 0.825 ID 
589-0502 Washer Spring Wave 17MM ID 
589-0504 Washer Spring - Wave 19MM ID 
589-0505 Washer Spring - Wave 21MM ID 
589-0511 Washer Spring - Wave 24.22 MM ID 
589-1325 Washer Spring - Belleville 6.2MM ID 
589-1326 Washer Spring - Belleville, 12.2 MM ID 
590-0004 Gas Spring 400 N x 60 MM Stroke 
590-0015 Gas Spring - 400 N X 200 MM Stroke 
59-0402 Bearing Ball - .50 RET Ring W/C-Collar 
591-0288 Bearing Ball .125 ID Shields Flange 
591-0289 Bearing Ball - .50 ID Sealed RET Ring 
591-0290 Bearing Ball - 0.375 Sealed RET Ring 



591-0291 Bearing Ball 0.625 Sealed RET Ring 
591-0310 Bearing Ball - 0.250 ID Sealed 
591-0400 Bearing Ball - 0.375 ID W/Clamp Collar 
591-0401 Bearing Ball - 0.250 ID W/Clamp Collar 
591-0402 Bearing Ball - .50 RET Ring w/C-Collar 
591-1253 Bearing Roller - 10MM ID Needle Caged 
591-1282 Bearing Roller - 18MM Machined Sealed 
591-2015 Bearing Ball - 0.500 ID Flange Mounted 
591-2019 Bearing Ball - 25MM ID Set Screw 
591-2021 Bearing Alignment - 20MM ID Flange MNT 
591-2218 Bearing Ball - 12MM ID Sealed 
591-2230 Bearing Ball 
591-2235 Bearing Ball - 10MM ID Sealed 
591-2238 Bearing Ball - 15MM ID Sealed 
591-2244 Bearing Ball-DBL Row 10MM ID Sealed 
591-2304 Bearing Ball - 10MM ID Sealed 
591-3001 Bearing Alignment-0.375 ID Press Fit 
591-3005 Bearing Alignment - 8MM ID Flange MNT 
591-3008 Bearing Alignment-0.375 ID Needle 
591-3015 Bearing Assembly-40MM PU 90A W/Stud 
591-3017 Bearing Assembly - 13MM Steel Cam Fol. 
591-3023 Bearing Assembly 
591-7032 Bearing Ball - 8MM ID Sealed 
591-7039 BEARING BALL - 8MM SHIELDED SNAP RING 
592-0003 Pulley Timing - MXL 16T 
592-0024 Pulley Timing - XL 24T 
5WMV6 GE-P9B01VN Contact Block, 22mm, 1NC Contact Form 
685051D Shim 3/8 ID x 5/8 OD 
69-0501 Screw-Flat HD Cap 6-32 x .375 
69-7202 Screw - Flat HD HEX Socket M4 x 16MM 
69-7204 Screw Flat - HD HEX Socket M4 x 20MM 
69-7206 Screw - Flat HD HEX Socket M4 x 20MM 
6AMJ5 P9B10VN Contact Block, 22mm, 1NO Contact Form 
71-0120 Metric-Nut M dwr 
7119.00002.4 Timing Belt Pulley 
7119.00003.4-U Timing Belt Pulley 
7119.00004.4-U Timing Belt Pulley 
7119.00013.3 Hunkeler - Bushing Bearing (UW/RW) 
7119.00016.3 Drive Shaft RD50X268 
7119.00036.3-Gear Spur Pinion, Gear 
7183.00252-U Hunkeler Torsion Bar 
72A-BA-000-BB-BGEA-
11A Mac Valve for ZY72701 
75-5346 Screw - Set M4 x 4MM Cup Point 
75-5446 Screw Set - M4 x 5MM Cup Point 
75-5758 Screw Set - M6 x 25MM 



80-0030 Nut 
80-0506 Nut - Hex Thin M6 
81-9225 Screw Socket HD Cap M5 x 16MM ZP 
81-9256 Screw-Socket HD Cap M6 x 30MM ZP 
8484024RL Orange Belting 500' Spool 
85-0116 Crimp - Socket 24-18 AWG 
85-0234 Crimp - Pin 24-18 AWG 
862-0001R Air Pump-Bypass Blower, 69 CFM 
862-0034R Air Pump Bypassblower 
87-0025 Nut - Hex Socket 5/16-18 x .522 STL/ZC 
98000-036 Switch Reed 
98000-098 START PUSH BUTTON BLUE 
98000-102 CLIP ONE POSITION 
98000-105 CONTACT BLOCK 1XNO PROTECT 
98000-108 Contact Block NC Gold Plate 
98000-112 ASSY CONTACT BLOCK 1XCLIP 1 
98000-117 RUN PUSH BUTTON TEXT AND SYM 
98009-001 Sensor Diffuse Reflective 
98009-002 Sensor Sender 
98009-004 Double Detect Switch 
98009-017 Sensor/Cable ASSY (Front Table/Envelope Sensor) 
98009-028 F&F Proximity Sensor 
98009-037 Receiver - MV5/30/115 Sensor 
98009-038 Sensor (Omron E3Z-B61) 
98013-020 Input Module CC Link 16PT S 
98013-075 QY80 PLC Module 
98013-117 Module Ethernet - Rack Mount 
98020-024 Magnet Actuator Reed Switch 
99000-004 Belt Red Gum 
99000-005 Belt Elevator 
99000-018 Belt Timing 176 XL 037 
99000-033 Belt 130XL037 
99000-038 Belt Turnover 91.645 
99000-039 Belt Turnover 111.601 
99000-042 Belt Accelerator 
99000-059 Belt Timing 130 XL 075 
99000-133 Belt Red Gum Grooved 1.25 X 
99000-134 Belt Red Tractor Grooved 
99000-147 Steel/Kevlar Belt 255LO75 
99000-173 Belt Steel Reinforced 300XL 
99000-268 Belt Timing 90XL037 (Steel Reinforced) 
99000-318 Belt Timing 650-5GT-15 
99000-369 Belt Endless 3/4"W X 42.25"L 
99000-410 Belt Timing HTD 450-5M-15 
99001-008 MOTOR 11 RPM 
99001-009 Sort Conveyor Motor 32 RPM (Grainger 1LPW3) 



99001-018 SEPARATOR MOTOR 24VAC (No Connectors) 
99001-024 Gearmotor 3/4HP 3500 RPM W/20 
99001-024R Gearmotor 3/4 HP 3500 RPM W/20 
99002-001 Pulley 100MXL025 
99002-032 Pulley 16XL037 STL No Hub 1/2 B W/Key 
99003-001 Bearing 3/8 
99003-008 Bearing 3/8 X 7/8 Sealed 
99003-010 Bearing Linear 3/8 B 
99003-011 Bushing 1/4 x 5/16 x 3/8 
99003-014 Washer Nylon 5/16 X 1/32 
99003-015 Washer Nylon 5/16 X 1/16 THK 
99003-022 Bushing 
99003-055 Cam Follower 1/2" DIA. 
99003-081 Roller Yoke 7/8 OD 1/4 B. 
99003-093 Bearing 1/2 X 1-1/8 w/Locking 
99004-003 Handle Adjust 
99005-009 Spring Extension - RH Jaw 
99006-014 Nut Eccentric Pin 
99006-015 Pin CTR Jaw Roller 
99006-016 Pin Spring Clip 10-32 x 3/8 
99006-020 Roll Pin 5/32 X 3/4 
99008-006R CLUTCH BRAKE 24V DC REWORK 
99012-002 Handle Cover (750 Per Box) 
99013-001 Latch W/Out Switch 
99017-005 Collar Set 5/8 
99017-026 Bushing Taperlcok 1610 1/2B. 
99019-001 Roller CTR Jaw Opener 
99019-004 Roller, Durasoft 2.5" 
99019-007 Roller ASSY Spring Tension 
99025-006 Valve Solenoid (Vacuum) 24VDC 1/4 NPT 
99025-007 Valve 24 VDC 1/8 NPT 
99025-008 Valve, Ball PVC 3/4 NPT 
99026-008 Regulator Filter 
99026-021 Regulator 1/8 NPT (Water) 
99028-145 Nozzle-Sensor MTG Alt# 98019-054 
99028-208 Fitting Male Connections M6 x 1 
99029-016 Vacuum Pump 1.2 HP 60HZ 
99029-016R Vacuum Pump 1.2 HP 60 HZ (Rebuilt) 
99030-001 Gauge 0-15 PSI 
99033-002 Shoulder Bolt 1/4 x 5/8 
99033-005 Shoulder Bolt 1/4 x 3/4 
99034-001 Key Woodruff 1/8 X 3/4 
99034-003 Key 1/8 X 3/4 
99034-007 Key Woodruff 3/16 x 3/4 
99036-003 Shim Bearing 3/4 X 1-1/8 X .006 
ALIGNER BELTS MCS ALIGNER BELT SET 



B84040105 Filter Element 
BE90950500 APS Vacuum Pump Filter 
C6125A TWK2080 H Reliable 
CM557H Black Ink w/Heads-Up Technology 
DE84061 Motor Assy Transmission 
E191-11-060 Meniscus Pump without Connector 
EXP19301CT EXP19301CT Intel Gigabit PCIe X1 Adapter 
F762039 BEARING - SLIDING 8MM 
F762240 Knob Large 
F784049 Motor 
FK0001815 Deflector-Swing 
FK2001855/50 ASSY-Clamping Lever Fold Pan 
FK2002561 EA Kit - RBD,HD15 
FL00017 LED-Optical 
FL00309 Arm Pusher 
FL00321 Clamp Pusher Arm 
FL00322 Assy Pusher Arm 10X13 
FL00329 ASSY Pusher Chain 10X13 (1 Set = 2) 
FL00336 ASSY Air Prep 
FL00370 Arm, Vac Cylinder Mount 
FL00397 Harness Friction Feeder Integrity 
FL00405 HARNESS DOUBLE DETECT 
FL00432 Actuator Assembly 
FL00433 Solenoid ASSY 
FL00435 VACUUM SOLENOID ASSY 
FL00450 Plate Pusher Extension 8.5" 
FL00451 Plate Pusher Extension 9.25" 
FL00452 Plate Pusher Extension 7.75" 
FL00453 Plate Pusher Extension 6.88" 
FL00454 Plate Pusher Extension 6.25" 
FL00455 Plate Pusher Extension 5.63" 
FL37029 Pulley, Conveyor Drive, 20T 
FL44800 Nut Paper Slide 
FL50022 GUIDE ENVELOPE EXIT 
FL62060 Drag Strap 
FL80165 Belt Collator Conveyor 
FL84021 Reflective Sensor Flap Detection 
FL84023 PHOTO SENSOR DIFFUSE 
FL84067 ASSY Seal Roller 
FLTPE-2B Filter Element Blue 150 to 250 Micron 
G2R-1A-T DC24 Relay, E-Mech, Power, SPST-NO, Cur-Rtg 10A, Ctrl-V 24DC, Vol-Rtg 250/30AC/DC 
GGS43-020-X GGS43-P1=20 lbs Threaded Ends, 3.15" Stroke, Chrome End 
H183026 Cable Assy R150 Interface 
KF09911062 Spring Switch 
KF09911063 Spring Switch Backing 
KF09912521 Jack Shaft Pulley 



KF09912523 Gear Motor Shaft Pulley 
KF09932525 D Roller Segment (KFW) 
KF09932551 Pulley Main Motor 
KF09934502 Roller Pulley 
KF09934505 Urge Roller ASSY W/Bearing 
KF09964513 22T Pulley 
KF9932525B D Roller Retainers 
KFM3001003 Pillow Block Bearing 5/8" Bore 
KFM3001004 Bearing 
KFM3001006 Pulley Arm Bushing 
KFM3001007 Ball Bearing Double Shield 
KFM9001005 Latch 
KFM9001016 O-Ring Small - Flip Module Pulleys-KFW 
KFM9009012 Endless Blue Belt (Big Box) 
KFM9009013 Endless Green Belt 
KFM9501001 Spring Compression 
KL-D018026 ASSY - 1/4-20 X 5/8 T-Knob 
KL-D018027 ASSY - 1/4-20 X 3/4 T-Knob 
KT003104 Belt, Panther H, 2" x 71.5" x .055" (Set of 3) 
KT004100 Bin Sensor Kit 
MCS 6530-Black 15 Series 3 Slot Mount-Single Flange Short Standard Linear Bearing w/Brake Holes 
MCS 6800 15 Series "L" Handle Linear Bearing Brake Kit 
MD00175 Gear Drive - Right Angle 
MD00176 Pusher Inserting-Belt (Service Part) 
MD841131 Remote Control 24V Receiver & Antenna 
MD84131 REMOTE CONTROL-24V RECEIVER & ANTENNA 
PM015600 Pulley, 16 Tooth, 3/8" Pitch, 3/4" Wide, Modified 
PM016200 Fold Wheel, Lower 
PM016300 Lower Press Wheel 
PM018500 Mounting Block, Bogie Wheel 
PM019300 Pulley 15 Tooth 
PM019301 Pulley MOD 15 Tooth 
R121001 Spring Aligner Balls 1050 
R-12-U Straight Shooter 12" Feeder (Used) 
R145043 Guide Lock 
R162001 Holder Spring 
R162002 Ball Housing 2050 
R162007 Cap Aligner Ball 1050 
R184001 Ball Aligner 1050 
R184054 Connector Barb to Male 
R184057 Switch Liquid Level 
R184057/ZX80833 Switch Liquid Level 
R184062 3/8 ID Flangett Bearing 1050 
R184072 Idler Roller ASSY 
R184123 Pulley Drive-25T 
R186017 ASSY Roller - Sealer 



R186018 ASSY Roller-Double Wide Single Roller 
R186019 ASSY Roller Double Wide Double Roller 
R210016 Stud Idler Small 
R262032 Roller-Top Idler 
R262034 Belt Drive - Diverter 
R284021 Flexible Coupling 
R284023 Belt Timing 
R284034 Motor 1/2 HP AC 
R284037 Stop Diverter 
R284039R 1/4 HP MOTOR-WIDEBOD 
R284044 Alum Flex Coupling 
R294000 Ultimag SOL 24V 
R680001 Power Supply Module ASSY 
R680005DD ASSY MOTOR CNTRL-DC 
R680005MMR Motor Controller Box Rework 
R680005NN Motor Controller Box 
R680007CC Motor Controller 
R680009AA Motor Controller 
R680009EE Motor Controller 
R682006R Interface Board Bingo 
R683108 Harness Assy 10K controller 
R683172 Cable ASSY Reflective Sensor 
R683200 Jumper ASSY IN4002/IN5349P 
R692042 Infrared LED 
R692043 Optical Detector 
R762000 Latch Catch 
R782000R Turbojet Controller Board, Reworked 
R784021 DMI V2 Print Engine 
RD00074CCR Barcode Reader Fixed POS Red Emmision 
RPM41BD Non-Latching Relay, 4PDT, 15A, 24VDC, Plug-In 
RT424024 Schrack PCB Relay 2 C/O 24VDC 8A pinning 5.0 
S215-085-BG-01 ASSY-Idler Timing Belt Left 
S215-085-BG-02 ASSY Idler Timing Belt Right 
S217-680-BG-01 ASSY-Stop, Buckle Plate 
S267-254-BG-01 Gapset Fest ASSY Knob 
S267-294-BG-01 ASSY-Slitter ADJ Drive 
S267-295-BG-01 ASSY-Slitter-Fixed Drive 
SE000206 Ameritek Tabber Display Board 
SM002100 Idler ASSY, Tab Drive 
SM008401 Roller, Float Idler, Labeler 
SM012700 Pulley, Wrap Flange ASSY 
SM027702 Assembly, Idler Roll, Short, 1-1/2" Dia. 
SP268-142-BG-01 Roll-Fold, Idler Spiral 15" 
SP268-143-BG-01 Roll-Fold, Main Spiral 15" 
SR-101986 Belt Timing-UUU 200XL037 
SR67042 Pulley Crown 26.5MM 



TO1185 Parameter Unit 
TWK1396-CT Max 3 Black 
TWK-1818 H Black 
TWK1961H-CT Super Fast Black 
TWK2010H Endurance Black 
U765000 see U765100 Belt Transport 
U765100 Belt Transport 
VB001000 Bearing, Radial Ball, 5/8" ID, Snap Rings 
VC001000 Optical Sensor, Wide Gap 
VC005100 Reed Switch SPST 
VC006203 Fuse, Metric, 5mm x 20mm, 8A Time Lag 
VG000100 O-Ring, 1-3/16 x 1-7/16 x 1/8 
VG000500 O-Ring, 4-1/4" x 1/8" Diameter 
VG001301 O-Ring, 15/16" ID x 1-3/16" OD x 1/8" Wide, Polyurethane 
VH000602 Screw, Flat Head Socket, 1/4-20 x 3/4" 
VH001714 Screw, Set, Brass Tip, #10-32 x 3/8" 
VR000300 Nip Roller 
VT003600 Gearbelt, L, 3/8" Pitch, 3/4" Wide, 72 Tooth 
VT003902 Gearbelt, L, 3/8" Pitch, 1/2" Wide, 68 Tooth 
VT003903 Double Gearbelt, L, 3/8" Pitch, 1/2" Wide 
WAL-270-06-B M1900010.47 Brush and Spring (Walco Leeson Motor) (24VF79 Grainger) 
Y100550 78 Tooth Feed Belt 
Y110147 Shaft Drive 
Y113051 Roller Drive Belt 
Y135004 Gear 40T Mearthane 
Y137023 Pulley 25T Shaft 
Y162021 Slide Block 
Y164002BB Stone 
Y180014 ASSY Bearing Housing 
Y180032 Stone Seperator 
Y180036 Fold SPRKT High Speed 
Y180190 Assy Idler Pulley 20T 
Y180621 ASSY Idler Gear Hub 
Y180623 ASSY Drive Pulley Main 
Y180635 ASSY Idler Pulley Main Drive 
Y180637 ASSY Drive Gear O-Ring 
Y180663 ASSY Main Drive Pulley 
Y183000 ASSY Stack Sensor Switch 
Y184025 Bearing 12MM 
Y184039 Collator Stack Sensor Spring 
Y184042 Encoder Belt 
Y184053 77 Tooth Feed Belt 
Y184085 Belt 1/5P 46T 
Y184145 Belt Upper Output 
Y184263 Drive Belt 1/5 Pitch 
Y184270 Drive Belt 



Y184338 Nylon Spacer-FIM Cover 
Y184375 Solenoid Smart Deflect 
Y184383 Belt FIM Transport 
Y184465 Clutch ASSY Enhanced Buffer OGURA 
Y184516 ASSY 
Y184636SR DC COMPUTER DSR WES P INTR RTP R 
Y186017 Pulley Drive Single O-ring 
Y186018 Pulley Idler Single O-Ring 
Y186019 Pulley Idler Dual O-Ring 
Y186020 Roller Tire HUB Idler 
Y200411 ROLLER FOLDER TOP 
Y210028 Shaft Seperator 
Y210037 Shaft Clutch Drive 
Y280022 Roller ASSY Feed 
Y280033 Pulley Assy 16T 
Y280065 ASSY Brake Stator 
Y280070 STRAP ASSY SIDE GDS 
Y280084 Brake Pulley Spring ASSY 
Y280471 Motor Control Box ALPHA III 
Y280473 ASSY Roller Takeaway ALPHA III 
Y280502 Clutch Brake ASSY 
Y282020 Solenoid Driver PWA 
Y284030 AC Frequency Inverter Drive 
Y284057 Motor 1/2 HP AC - 3 Phase 
Y284069 Clutch ASSY HSHCCSF 
Y284080P Flanged Bearing Housing 
Y284100 Bearing Non-Aligning Large Flange 
Y286002 Roller Take Away 
Y310316 Shaft Tar Drive 
Y310701 Stud Diverter Actuator 
Y310702 Stud Diverter Pivot 
Y313080 PULLEY 30T 3MM GT 3/8IN BORE 
Y313081 Pulley 3MM GT 20T 
Y313082 Pulley 48T 3MM GT 1/2IN Bore 
Y313086 Sleeve Drive shaft 
Y313087 Shaft Idler Arm Thru 
Y313100 Pulley 23T 
Y330701 Pulley 3MM GT2, 20T, 9W 
Y330702 Pulley 3MM, GT2, 9W 
Y331002 Pulley 
Y340703 Bearing Housing Machined 
Y345120 Block Lower Center Bearing 
Y345131 Gate Seperator V3 
Y362075 Flat Belt Buffer 
Y362076 Flat Belt Buffer Long 
Y362077 O-Ring Belt Buffer 



Y365020 Belt Stack Advance 245T 
Y380706 Assy Idler Rollers Left VDS 
Y380708 Assy Idler Drive Belt 
Y383205 H/A BUFFER PHOTO SENSORS 
Y384026 Hub Lead Screw 
Y384086R 1/4 HP MOTOR 
Y384146 ASSY 3 Roller Entry EXT 
Y384156 Flex Coupling .625 
Y384301 SENSOR SAFETY INTERLOCK 
Y384310 Pump ASSY 2 Stage 60 HZ 
Y384318 Bushing, 3/8" ID 
Y400477 Entrance Nip Roller 
Y400501 ASSY Molded Drive Roller 
Y400513 Coupling KTR 10MM x 10MM 
Y400671 Roller Divert Foam 
Y400674 Flat Belt - HEI Accum 
Y400675 Flat Belt - HEI Divert 
Y400823 VLIER Plunger 
Y400936 Bearing ASSY Accum Ramp 
Y401198 Drive Hub 
Y401238 Belt Northport 
Y401248 ASSY Drive Shaft Northport 
Y401265 ASSY Roller Spring Single 
Y401325 Retainning Clip-Carriage Block 
Y401356 Turnbar Idler Pulley ASSY 44T 
Y401406 O-Ring Exit Roller Cutter 
Y401420 Conveyor Sideframe-Left 
Y401421 Conveyor Sideframe-Right 
Y401423 Conveyor Idler Roller 
Y401425 Conveyor Nip Roller 
Y401489 Pulley 42T 
Y401516 Roller ASSY 
Y401537 Pulley 44T GT2 
Y401547 Flat Belt-HEI FIM 
Y401703 Crowned Idler 
Y401733R ASSY Gate Cylinder Rework 
Y401734 Drive Belt Accum 
Y401735 Spacer 
Y401736 Cylinder Mount-Gate 
Y401737 Thrust Washer 
Y401742 Nip Roller-HSN 
Y401780R Flip ASSY 
Y401832 Bearing ASSY-Carriage (Bearing Only)/Washer Plain .255 ID 
Y401901 Dual Drive Pulley 
Y401933 Drive Pulley 28T 3MM GT 
Y401981 Pulley No Flange 28T 3MM GT 



Y402078 Crank Pin W/Pulley 
Y402103 Exit Roller 
Y402104 Spring Paper Guide 
Y402127 Pulley 26T 3MM GT 
Y402128 Pulley 27T Clamp Hub 
Y402142 Roller Urethane 
Y402166 ASSY Lower Slitter Right 
Y402180 Slitter Housing Upper 
Y402185 Spring Upper Slitter 
Y402195 Slitter Washer 
Y402198 Drive Hub 
Y402200 Trimmer Blade 
Y402201 Handle Standoff 
Y402205 Base Hinge-Top Cover 
Y402230 Traction MTR Bar 
Y402238R Motor Emerson 2HP Refurbished 
Y402243 Pulley 28T 5MM GT Idler 
Y402258 Bracket Set-Up Tool 
Y402377 Support - Nip Roller 
Y402614 Exit Roller Arm GTRAX 
Y402628 H/A Cutter PC Jumper 
Y402640 Drive AC Motor 
Y402742 Drive Roller HSN - HPI 
Y402810 Spring Paper Guide Wide 
Y402846 ASSY Scanner Flutter Control Bracket 
Y402963 G-Trax Axle/Wheel ASSY 
Y403093 FIM Exit Roller 
Y403157 Roller ASSY Idler 
Y403207 Drive Roller ASSY 65 MM 
Y403341 Clamp Knob - Side Guide 
Y403349/Y406150 Holder - Defector Strap 
Y403367 Turnbar Dual Drive Pulley ASSY 50T 
Y403374 AC MOTOR DRIVE EMERSON 2 HP 
Y403378 Plate-Aligner 
Y403414 Pulley 3MM GT 20T 
Y403431 Split Sprocket-Drive 20T 
Y403455 Washer - 12.20 ID 2.60 THK 
Y403478 Buffer Roller Narrow 
Y403483 AC Motor, Emerson 2HP 15P Encoder 
Y403484 AC Brake Motor Emerson 2HP 15P Encoder 
Y403484R AC Brake Motor, Emerson 2 HP 
Y403487 Buffer Main Drive Pulley-26K 
Y403488 Drive Pulley 28T 3MM GT 
Y403499 Coupling 26K Buffer 
Y403500 Blade Upper Carbide Inserts 
Y403501 Blade Lower Carbide 



Y403506 Deflector 
Y403563 Roller - Long 
Y403565 Shaft-Roller 
Y403952 Shaft, 60 HRC-Slitter 
Y404011 Steel Pulley-DR Shaft ASSY 
Y404098 HPI FIM Exit Roller 
Y404103 Pulley 44T GT2 (8MM ID) 
Y404127 Roller CTR Jaw Opener 
Y404427 HPI Rat Belt 
Y404471 ASSY 10 and A4 MLDD Accum Roller-Service (Not Full Covered Length) 
Y405350/Y406150 Clamp Plate 
Y405826 Plate Cam Lock 
Y405828 Cam Fold Gap 
Y405835 Cam Fold Gap Exit 
Y405847 Sprocket 16T 
Y405851 Arm Take Up 
Y405852 Nylon Spacer .438 ID 
Y405853 Spring, Compression, .250 x .75L 
Y405883 Hub, Upper Slitter-Spline 
Y405885 Hub, Lower Right/Left Slitter-Spline 
Y406134 Plate Cam Lock Plate 
Y406146 Shaft, Spline 
Y406150 ASSY, Left Hand Upper Slitter-Spline 
Y406317 Idler Sprocket ASSY 
Y406853 Spring, Compression 
Y406992 Trim Deflector, Upper Right, Updated 
Y406993 Trim Deflector, Upper Left, Updated 
Y414028 Housing-12MM BRG 
Y437079 Pulley 34T Motor 
Y482023R ASSY Enhanced SMC 
Y482024R ASSY, Commercial Module CONTLR, Rework 
Y482028 ASSY 10K Controller 
Y482028R ASSY 10K Controller Rework 
Y482032 ASSY, APS Watchdog Module 
Y482035 ASSY Enhanced DSR BUS Controller 
Y482036 ASSY CEM E-Stop 
Y482040 ASSY CMC PIN Less Cutter Refurbished 
Y482040R ASSY CMC Pinless Cutter Board Refurbished 
Y482045/Y482055 Assy ESMC Plus 
Y482047 ASSY APS Vacuum Sensor 
Y482055 ASSY ESMC PLUS STO 
Y482055R ASSY, ESMC Plus STO, C.15 
Y482115 ASSY, ESMC+Quad Motor Mezzanine Card 
Y483008HB Harness ASSY Safety Chain IN - 90" 
Y483046DD HARNESS SAFETY IEF SAFETY CHAIN OUT 
Y484262 Belt Main DRV-1300 Pitch L-5MM GT Pitch 



Y484267 Drive 
Y484345 Spring Arm Pivot 
Y484349 Motor 1/2 HP AC 
Y484350 Nut Hex M24 x 1.5 (Low) 
Y484351 Coupling Flexible 
Y490525 D-Roller Urge On-Edge Stacker 
Y500940 Assy Valve 3 Port 24V 0.3CV 
Y501109 ASSY PWR Supply 48V/24/5V 1755W 
Y501109R ASSY Power Supply 48V/24/5V/1755W-Refurb 
Y501940 Assy Valve 3 Port 24V No Screen 
Y520001 Spring-Nip RLRCTR Deck 
Y537007 Pulley Nip Drive 
Y537008 Pulley DR CTR Nip 24T 
Y537009 Pulley Idler CTR Nip 24T 
Y537114 Pulley 34T Drive 
Y545028 Bearing Block Drive 
Y565003AA Belt Pusher 3 Station (3740 MM) 
Y565104 Roller, Retard Sep 
Y572000 Detector APS Optical 
Y572001 LED-APS Optical 
Y580007/Y501109 ASSY Power Supply 48V/24/5V/1755W 
Y580009 Module-Power Distribution AC 
Y580042 Nip ASSY CTR Deck 
Y580044 ASSY Retard Strap 
Y583035 Harness ASSY Switch 2 Pole Reed 
Y583039CA AC Interconnect Harness 27" 
Y583039DB AC Interconnect Harness 42" 
Y583039EA/Y583040EC Interface/Interconnect Harness 51 Inch 
Y583040EC Interface/Interconnect Harness (57") 
Y583088HD Harness ASSY Super Hurst Motor ENCDR 
Y583089HD Harness ASSY Super Hurst Motor PWR 2438 
Y584029 Brush Chassis Input 
Y584106 Feed Belt 100 Tooth 
Y584115 Bearing, 10 Needle 
Y584125 Feed Belt, 100T Grooved, Red 
Y584127 Feed Belt 100T Grooved Black-Service 
Y600008 ASSY Dump Roller 
Y600040R Copley ASSY Amprework 
Y600061 Spring Lower Entrance 
Y600148 Shaft Pulley Vacuum 
Y600158 Idler Roller ASSY 
Y600173 Copley ASSY, Xenus Servo Amplifier 
Y600214 ASSY Pulley 31T 3MM GT 
Y600215 Timing Pulley ASSY 28T/42T 
Y600220 Pulley ASSY 3MM GT 30T 
Y600221 Timing Pulley ASSY 3MM GT 32T 



Y600222 Timing Pulley ASSY 3MM GT 56T 
Y600223 Timing Pulley ASSY 3MM GT 31T 
Y600224 Roller Assy Under 
Y600230 Feed Drive Pulley ASSY 
Y600232 Pulley Roller Drive-3MM GT 34T 
Y600234 Pulley Motor Vacuum Feeder 3MM GT 50T 
Y600236 Pulley Idler Drive 3MMGT 22T 
Y600237 Pulley Roller Drive 3MM GT 22T 
Y600248 ASSY Dump Roller 
Y600257 Pulley ASSY Overhead Pushers Drive 
Y600283 Bushing - Spacer 6 ID 8 OD 
Y600344 Envelope Stop - RH 
Y600359 ASSY Knob.Carraige - Lock 
Y600378 Drive ASSY 26K 
Y600391 Sideframe ASSY Vac Deck LH 
Y600426 Roof Plate-26K Long 
Y600442 Idler Log Roller ASSY Timing Belts 26K 
Y600493 Tension Roller 
Y600510 ASSY Pneumatic Drum Feed Head 
Y600533 Service Kit-Under Over Roller-Plasma 
Y600559 Pneumatic Cylinder 
Y600565 Flapper-Envelope 
Y600566 Deflector Envelope 
Y600582 ASSY Nip Roller Feed Head 
Y600600 Service 8 Belt Set - MPS Vacuum Deck - HAB 
Y610026 Shaft Feed Drive 
Y610031 Shaft Flapper/Deflector 
Y610055 Shaft Stops 
Y611019 Standoff-Linkage Main 
Y611020 Pin-Linkage-Flapper 
Y611305 Stud Mount Gas Spring 
Y613000 Roller Under/Over 
Y613006 Roller Takeaway Idler 
Y613012 Roller ASSY Idler Drive VAC Deck 
Y614019 Bearing Housing Vacuum Tension 
Y614314 Space Shoulder SCR 
Y614318 Spacer Vacuum ADPTR 
Y618001 Tire Takeaway Idler 
Y620001 Spring Extension 
Y623000 Spring Leaf 
Y637002 Pulley Idler Drive 
Y637006 Pulley Driven 
Y637215 Pulley Drive Overhead Pushers 
Y637216 Pulley Motor 
Y645122 Bar Flapper Stop 
Y645123 Block Bearing Slide 



Y645265 Nut Plate 
Y645291 Stop Envelope 
Y645355 Block Drive Pulleys 
Y650022 Link-Flapper 
Y650043 Strap-Downstream 
Y650044 Strap-Upstream 
Y650222 Spring Flat Large 
Y658473/Y600493 Tension Roller 
Y662228 Pad-Housing 
Y665006 Tire Dump Roller 
Y665203 Tire, Idler, End, (28.0 MM) 
Y680009 ASSY Shaft Exit Envelope Feed Head 
Y680010/Y600582 ASSY Nip Roller Feed Head 
Y680031 Pulley HTD 42T/28T 
Y680050 ASSY Yoke Exit 
Y680059 Horn ASSY Left 
Y680061 Roller Flapper APS 
Y680066 ASSY Gear Driven Driver VAC Deck 
Y680072 ASSY Ski/Brush Mount 
Y680078 ASSY Idler Pulley 5MM-28T 
Y680079 ASSY Drive Pulley 5MM/3MM 
Y680126 ASSY Strap Side Guide Motor MOD 
Y680127 ASSY Strap Side Guide Short 
Y680139 ASSY Driven Pulley Tension-RH 
Y680369 ASSY Stripper Bar Adjustment 
Y680370 Horn Assy 
Y680408 ASSY Upper Plates 
Y680414 Pulley Idler Drive 
Y681111 ASSY Entrance Roller 
Y683010HA Cable ASSY Hurst Motor Commutation 2209 
Y683036 Proximity Sensor Envelope Feeder 
Y683039 Sensor Engine Retroreflector 
Y683042 ASSY Linear Hall Sensor 
Y683107 Cable ASSY Set Up Switch 
Y683122AD Harness ASSY Safety Chain Repeater-12" 
Y684000 Pulley Takeaway Drive 
Y684007 Pulley Valve 
Y684051 Pulley Timing 3MM HTD 32T 
Y684052 Pulley Timing 3MM HTD 31T 
Y684056 Pulley Timing 3MM 56T 
Y684059 Pully 3MM 30T HTD 
Y684067 Gas Spring 
Y684078 Fiber Lead Pair 600MM 
Y684081 Extension Spring Flapper 
Y684095 Hose Flex Feed Head 
Y684110 Pulley 50T-Motor-Vacuum Feeder 



Y684115 Pulley 44T 
Y684417 Pulley, T.B.(20T) Hub-Clamp 
Y684455 SCR-Shoulder M6 THDS 
Y684466 REFLECTIVE DISK 
Y684475 Belt Vac Deck-18MM 
Y684476 Belt Vac Deck 9MM 
Y684479 Vacuum Pump - ASSY 60HZ 
Y684486 Moto ASSY APS 
Y684491 Hub Lead Screw-LH 
Y684495 Motor-.25HP @ 180VDC 
Y684497 Gear Spur-45T Drive 
Y684500/Y684504R Servomotor NEMA 23 Referb 
Y684504 SERVOMOTOR NEMA 23 
Y684504R Servomotor NEMA 23 Refurb 
Y684602 ASSY Pulley 3MM HDT 31T 
Y686001 Roller D Molded 
Y700032 Arm Pivot Actuator 
Y700108 Cylinder Pin - ASSY Pneumatic 
Y700128 ASSY ADJ Timing Pulley 
Y700134 Shaft Seal Roller Exit 
Y700189 ASSY Block Roller Drive 
Y700193 Cap Ball 
Y700278 Pulley Drive 
Y700338 ASSY Drive Pulley 5MM-3MM BF 
Y700345 Latch Left BF 
Y700351 Stud Drive Pullye BF 
Y700357 ASSY Crowned Roller BF 
Y700358 ASSY Straight Roller BF 
Y700359 ASSY Jack Shaft BF *Missing Bearing* 
Y700372 Pulley Timing-Adjust BF 
Y700373 Pulley Timing-Fixed BF 
Y700391 Shaft Short 
Y700392 Pulley Timing 30T 5MM Pitch 
Y700395 Shaft Nip Drive 
Y700399 Coupling KTR 10MM x 375 
Y700416 Spring Aligner Ball 14-C 
Y700418 Hollow Ball Aligner 
Y700419 Sealer Roller 26K 
Y700473 ASSY Frame-Sealer Drive 
Y700484 PUMP SELF PRINMING SEALER 
Y700540 Stacker Flip Plate Large Angled 
Y700543 Stacker Flip Plate Small Angled 
Y700564S PRINT+ MESSENGER CONTROLLER PC (Bad Hard Drive) 
Y710002 Shaft Idler Pulley Large APS VBIN 
Y710042 Drive Shaft 2 Roller Large 
Y710043 Drive Shaft 3 Roller Large 



Y714009 Spacer Drive Shaft Roller 
Y735003 Pulley Sealer 
Y735005 Pulley Motor Sealer 
Y737011 Pulley Timing 28T. 5MM P. 
Y765005 Drive Belt Sealer 
Y765006 Drive Belt Motor 
Y765007 Belt Double Side 5MM 
Y768000 Belt Vertical Wall 
Y780082 ASSY Pulley 56T./Hub 
Y780087 ASSY Pulley Double APS VBIN 
Y780091 ASSY Shaft Idler Bearing Large Belt 
Y780092 ASSY Idler Drive Shaft 
Y780115 ASSY Roller Wide 
Y780126 ASSY Idler Pulley 
Y780127 ASSY Motor Pulley 
Y780160 ASSY Pulley 24T. + Clamp 
Y780165 Pulley Motor (34T) ASSY 
Y784021 Pulley T.B. (32T) Hub-Clamp 
Y784023 Gas Spring 60 Lbs 
Y784025 Drive Belt Sealer 
Y784026 Belt Turn Drum Inner 
Y784027 Belt Turn Drum Outer 
Y784029 Pulley Aligner Movement 
Y784036 Gas Spring 80 Lbs 
Y784047R Air Piston ASSY Rework 
Y785000 Air Piston Assy 15MM Stroke 
Y785002 Air Cylinder, 10MM Bore 
ZV81212 Narrow Side Guide Strap Assembly, Right 
ZV81213 Narrow Side Guide Strap Assembly, Left 
ZV84100 Gear Motor 
ZV84712 14MM Valve 6W 
ZX00053 Dry Vane Compress-Becker DT4.16 Lo Volt 
ZX00201 Rotary Front Feeder Drum 
ZX00238 Traction Belt 
ZX00386 Hub 
ZX00399 Sleeve Hub Turnover 
ZX00483 ASSY Insert Air Valve 
ZX00885 Belt, Turnover Lower 
ZX00886 Belt Turnover Upper 
ZX01479 Square Ring 
ZX01609 Belt, Long, Short Footprint Turnover 
ZX02040 Block Pusher (3.5 Wide ENV) 
ZX10011 Shaft Shuttle 
ZX20005 Gripper Extension Spring 
ZX2009 Cover Friction FDR Top 
ZX80809 Assembly Pneumatic OHS 



ZX80833 Container ASSY - Water 
ZX84000 Air Cylinder-OHS 
ZX84050 Hose High Temp 34 
ZX84800 WATER VALVE - VDW SERIES 
ZY10005 Hub Compliant Roller 
ZY12345 ASSY - VBIN Idler Roller EPIC 
ZY15600 Roller RAT 45 
ZY15601 Roller RAT 20 
ZY15629 Belt Vertical Rat 
ZY15632 Assy, Idler, Cone 
ZY15817 Seal Roller Wheel 
ZY16303 Shaft-Deflector Pivot 
ZY16325 Roller Guide-Flapper 
ZY16326 Roller Flapper 
ZY16338 Hub-Bearing Flapper Roller 
ZY16339 Shaft Flapper Roller 
ZY16409 Latch Pin 
ZY16420 Stud Idler Roller 
ZY16421 Drive Pulley Exit Xport 
ZY16422 Stud Exit Idler Roller 
ZY16423 Stud Exit Idler Arm 
ZY16424 Stud, Arm Actuator 
ZY16425 Stud Air Cylinder 
ZY16703 Drive Roller 
ZY16711 Roller Idler 
ZY16713 Spacer Short 
ZY16744 Shaft 
ZY16746 Stud Transport Belt Idler 
ZY17119 Feed-Head Idler Pulley 
ZY17301 Roller Assy Flapper Idler 
ZY17303 Roller Assy Transport Idler 
ZY37403 Pulley 3MM 33T Counterbored 
ZY46326 Arm Input Idler Arm 
ZY46423 Block Slide 8MM Shaft 
ZY46600 Arm Exit Idler 
ZY46703 Double Detect Arm 
ZY46831 Brush Epic Sealer 
ZY56318 Spring-Drag 
ZY56434 Strap Right Horn Upper 
ZY56439 Strap Left Horn Upper 
ZY56605 Bracket Roller RAT 20 
ZY56609 Bracket Roller RAT 45 
ZY56612 Bracket Idler RAT 45 
ZY56619 Support, Idler, RAT 45 
ZY57736 Hopper Transport Latch 
ZY62400 Belt Exit Xport 



ZY62401 Roller Compliant 3.25" 
ZY62600 Cap Idler Cone 
ZY62804 Vbin Belt U10W 25MM Wide 
ZY62805 Sealer Belt U10W 25MM Wide 
ZY65011 Belt Feed Vacuum 
ZY66401 Belt Overhead Pusher 
ZY67300 Blade Flapper 
ZY67301 Deflector Flapper 
ZY72701 Air Amplifier Feed Head 
ZY81223 Fan 120MM 24VDC 
ZY81326 Pocket Entry Roller Assy 
ZY81332 ASSY Gas Spring 
ZY81431 ASSY, Horn Left, 13MM 
ZY81432 ASSY, Horn Right, 13MM 
ZY81433 ASSY, Horn Left, 3MM 
ZY81434 ASSY, Horn Right, 3MM 
ZY81841 Gas Spring 
ZY81842 Gas Spring 
ZY81861 Flow Sensor ASSY 
ZY83293 Manifold, Vacuum, W/Leads & Suppression 
ZY84801 Sealer Pump 
ZY87271 Hopper Shaft Truck 
ZY87400 Vacuum Sensor 0 to -101KPA 
ZY87704 Roller Rubber Retard 40 Durometer Chamfer 

 
 
 


